
2.1 Plamdasl6a%nalsJ%M  (Inclination and Slope)
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gd 2.1.3
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Id 2.1.4
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Point)
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17-l  2.2.1 a qd  2.2.1 b

m =
O-(-2)

4 - 2
2 -

=--
2

3 4 MA 109



m=tana

= 1

180'-30'58  = 149'2'
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a, = a,
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. tan a, = tan a2.

m,=m,

%uwl-uGh%4  %w"  m,=m,

tan a, = tan a,.

adasum  0' 5 a, < 180’ua:  0’  _I  cz,  < 180’

a, f a,

ibi;li*u  a, > a2  N%J  a, < a,
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6d0wl  tan(a,+90')=-cota,
Y

swsl~:rari7U  tan a, = -cot a,
1=--

I tan a,

669-i tana, =m, IbtE tana, =m,

6WTlwlh m, = -'
ml

Y 1
Pi~lXdid tana,  =  - -

tan a,

=-cota,

lbaf tan( a, + 90’) = - cot a,

&l.iu tan a, = tan( a, + 90')

. a,=a,+90'. .

* a,-a,=90'. .

nl79n$la~6ilynrolfl  1,bliIk  1, sic,  90'

&l.fu 1, Iba: I2 iislhnfk

&.6+70  I, uaz I2 &slbkUnfiU%oai!0  nqm,  = -I
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1. 99msla,~~~Plosa~~~~~~~~~~~~,~,I~~~~glrllOSEE/~1PJI~~~~~~~~~~~*~~~
1.1 A(-1, -2),  B(3,  S),  C(5, 1) 1.2 A(-%  4),  B(6, 2),  C(4, -3)

1.3 A(2, S),  B(4, -l),  C(6, 3) 1.4 A(-8, -2),  B(-4, -6),  C(-1, 5)

1.5 A(3,  -4),  B(-1, 2),  C(1,  6) 1.6 A(0,  4),  B(-8,  0), C(-1, -4)

1.7 A(7, l), B(12,  -2),  C(8, -5) 1.8 A&,  2),  B(-4, 6),  C(4, -2&)

1.9 A(-1, l), B(1,  2),  C(8, -5) 1.10 A(-7, S),  B(1,  l), C(-3, 3)

1.11 A(-6, I),  B(-5,  2),  C(-3,  6) 1.12 A(;.  0), B(l, -f),  C($  3)

1.13 A(0,  &), B(3, 0), C(S,  2&, I .14  A(a,  b+c),  B(b,  c+a),  C(c,  a+b)

2 . as%~~alnr~~ab~ws~l~~(7,9)  8anrPd,~la~49~saf~~~~~~~~~~~~,~~~*~~*~~~~

sioyt?  (-2, 1) bl% (6, -3)

3.1 A(-7, 4),  B(l, -3),  C(0,  12) 3.2 A(1,  0), B(l, 4),  C(-2, 1)

3.3 A(l, S), B(3,  9),  C(-5,  8) 3.4 A(0,  9),  B(-4, -I), C(3,  2)

3.5 A(lO, S),  B(3,  2),  C(6, -5) 3.6 A(3,  -2),  B(-2, 3),  C(0,  4)

3.7 A(-2, 8),  B(-6, l), C(0,  4)

4 . asaadwsi,daw~a~ddgw~~~~~~~6~~~l~l;l~~~~~u~uu~wn’~~~~~~~~~~~~~~~~

4.1 Ml, 11,  B(6,  01, C(7,  4),  D(2,  5)

4.2 A(-1, -2),  B(0,  l), C(-3,  2),  D(--h,  - 1)

4.3 A(-I, -S),  B(2, l), C(l, S), D(-2,  -1)

4.4 A(2,  4),  B(6,  2),  C(8, 6),  D(4,  8)

5. oa%~~al%l~~aanR~i~~~~,~~~~~~~~~~~~~~~~~.~~~~~~~~~

5.1 (1, l), (-2, 7) 11%  (10, -17) 5.2 (4, I), (5,  -2) 6bix  (6, -5)
\
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X’

x

a, 6fluxyain  X' la1E.4 1, b6az

a2 6dUlpQlfl X ld& l2

$1 a2 > a,01lUqd 2.4.1 a b51?#

Q= a2  -a, hbaz

d1 a,> a, FllU&d  2.4.1 b 63lan"

8=(180'+a,)-a,

=18O'+(a,  -a,)

Ed 2.4.1 b
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dbl3~  SC?& 1,  i'fl'Wih  T=
-2-(-4)

l-5
2

-4
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# -1

tan 0, = ml  -9
1 + m,m,
-3-2

= 1+(-3)x2
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-5=-
l - 6
- 5
- 5

Y

N-2.4

WW

X

2-(-l)
btYdR99  BC do I, i%aiaXfu  lT$  = -__

8 - 4
3
4
4 - 2

libl59  CA w+o 1, ihawih  m3 = -
- 2 - 8
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bWS,ZQ%ZU  tan 8, = m, -m,
_

1 +m,m,

-5 3

= 6 4

l+(m$gJ

38
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=
+2,

1+(-g-;)

19=-
35

= 0.5429

QlQlJ

2.5 ~ldd~f3~~d~~W.h!tl~  (Aria Of any polygon)

Y

i (X,TY,)

~

P,(%Y!J

PAXPY,)

0 M,(x,,O) M&O) M&O)  x
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=hb A = ;ty, + y3)(x3 - x,) + ;(Y, + Y,)(x,  - x3)  - ;Q l + y2Xx2  - x,)

1.1 A(-3,0), B(Z,S),  C(S,l) 1.2 A(4,2),  B(O,l),  C(6,-1)

1.3 (-4,1),  B&-l),  C(O,6) 1.4 A(-?,- I), B(4,4), C(-2,3)

1.5 A(-8,-3), B(-2,-l),  C(-6,-S) I .6  A(G,S),  B( l,LJ),  C&7)

1.7 (3,1),  B(3,5),  C(7,-1) 1.8 A(3,2),  B(S,-4),  C(l,-2)

1.9 A(-1,4), B(2,-l),  C(10,3) 1.10 A(2,d),  B(4,8), C(6,2)

1.11 (2,2),  B(3,-l),  C(8,2) 1.12 A(3,4),  B(-2,-l),  C(4,l)
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1
tane=-

ml
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y = x

Y
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X

Id 2.6.2
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-pl 2.6.3
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BC &3

10-6 4

4-(-l) ‘3

$d 2.6.4
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1 . os~,nurnsslosl~~Blss~~,~~~~~~~~~~~~~~

1.1 (-1,2)  Ibi=E  (43) 1.2 (I,-2) Ibi%  (-$1)

1.3 (2,-3) 66% (4,2) 1.4 (-4,l)  Llix  (3,-S)

1.5 (3,l)  LbzEz (3,4) 1.6 (2,-l)  Ml5 (-4,-l)

1.7 (7,O)  lb%  (4,O) 1.8 (0,O)  ua:  (S,-3)

1.9 (5,-S)  bbi=lZ ($2) 1.10 (-$2)  bbwi  (3,2)

2.~sw7aroJrn~~uosbb~~~~~~~~~~~~~~~~~

2.1 KllUlh + Ilk?:  y-intercept -5 2.1 fhjn i+mr-m~~u -3(2,-4)

2.3 rhpl (0,2)  c+M-naJ~u 3 2.4 thy +kwla1PI~u(O,-3) -2

2.5 eilI.qk? (0,4)  k+YX%la1aJ~u  ; 2.6 rhqn  h~wm~~u(0,-l)  0

2.7 e;lI.qW  (0,3)  $+~t~fnl~~u  -: 0,
2.8 tl319JYpd  m MI,”  x-intercept a

2.9 x-intercept 3 Ml,”  y-intercept -4 2.10 rhpm t+~t~fla~oJa~us  13s'(-23

2.11 x-intercept a MI:  y-intercept b 2.12 x-intercept 66CEh$h~f1U4 Y

2.13 hqFl (1,1)ME@&  3 Hti3ualn?¶J ahJ$ua~&=E:wdaux

2.14bilUjPl  (-1,2)aa%mk=is  2 mh~dlws'nr  a&~~wk=~~:wu'a~

2.15 ejl968~.(4,4)~~;aunalua~as  60°  2.16 Filery~  (;,-f)chmJ~=d  $
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(2)Qlfl  2x -y +7 =0

r.dMy  = 2x + 7

:. r’la7XI~~“usss~~~*~l~~~~0  2

(3) alf~ihu  2.6.1 tQJfll5

2x-y + 7 =o blix

In (20,46)  El%

2x20-46+7#0
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am?p (-lO,-13)  anliT

2 x (-10) - (-13) + 7 = 0

* Mmilj@  (-IO,-13) O~IJMdU(il5J.  .

1. U9Hl (1) intercepts

( 2 )  tnna#u

(3) 6tUUi%Jfll~%UgIl  dope - intercept

(4) fmaJ<u

2.1 (-3,2);  3x - 7y + 4 = 0 1.2 (0: I); -x + 4y - 6 = 0

2.3 (1,-2); 2x + 5 = 0 1.4 (i.2~; x - 2y + 6 = 0

2.5 (-23;  5x + + 1 = 0 1.6 ((LI);  -7x + 2y - 3 = 0y

2.7 (63;  4y + 3 = 0 2.8 (-5,6):  x - 6y + 9 = 0

3. WWlfil  k mJdOU?~i8~d%
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2.8 q&h  (Point of Intersection)
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x - 2y + 1 = 0 bbtK

2x+3y-I=0

%%?!I x-2y+l=O . . . . . . . . . . . . (1)

2x + 3y - 7 = 0 . . . . . . . . . ...(?)

(1) x 2, 2x - 4y + 2 = 0 . . . . . . . . . . . . (3)

(2) - (3), 7y - 9 = 0

:. y = ;

IbIwil y %u (1) &I  (2) as11X
1 1x=-
7

x-2y=l

-3-i-14 11=-=-
3+4 7

I 2 1 -1 7 I
Y=E=

1X7--2X(-l)

I I

1x3-2x(-2)

2 3

7+2 7=-=-
i 3+4 9
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2.9 a=P1=ol’lsues~Relnl~~bdo1%9 (Distance of a Point From a Straight Line)

6 2 MA 109



-t&l Bx - Ay = Bx, - Ay,

L1tlxl1m=foJfllJwJ9 I a3118

Bxl-Ay,  - A

-C B
x =

B -A

I IA B

_ B2x,  - ABy,  - AC
B2-tA2

=  -BC - ABx, + A’y,

B2+A2
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d2=  [
B2x,  - ABy,  -AC A’y, - ABx, - BC

A2 +B2
- x,f + [

A2+B2 -Y112
=

[
B2x,-ABy,-AC-A’x,-B’x,  2

A2 +B’ 1

+I
A’y,-ABx,-B(‘-A2y,-B’,y,  2

A2 +B’ 1
= (-A(Ax,  +By, +C))’ + (-B(Ax,  +By, +C))”

(A2  + B2)2 (1 + B2)2
= A’(Ax,  +By, +C)’ AH’(Ax,  f&y,  +C)’

(A2 +B’)’
= (A2+B2)(Ax,+By,  tCJ’

(A2+B2)2  -

= (4 + BY, + 0’

4x-sy-7=0

%il Qlnwq?$.Tl  2.9.1 El%&

d= 14x(-3)-5x(-2)-7(

&Gg

I-91
=J41

=si -
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1.1 3x - 4y -7 = 0, (-1,2) 1.2 2x + 5 = 0, (3,-2)

1.3 2x - 3y - 11 = 0, (0,l) 1.4 -x + 2y  - 3 = 0, (l,-3)

1.5 12x - sy + 4 = 0, (0,2) 1.6x+y-l=O,(-3,s)

1.7 4x + 3y - 5 = 0, (-3,7) 1.8 x - 3y + 5 = 0, (3,-4)

1.9 2y - 3 = 0, (7,-6) 1.10 6x - Xy + 3 = 0, (;,$

2. WHl~alU~sQln~~4oJ  B .ihhW&  AC ala-~~~uo~a7~ln~o~~~~~~4~~~

@iFlblif

2.1 A(-l,l), B(S,2),  C(3,-1) 2.2 A(-2,1),  B(3,3),  C(O,-2)

2.3 A(-2,1),  B(1,7),  C(S,2) 1.4 A(.S,-2),  B(O,-7),  C(1,9)

2.5 A(-4,- I), B(-1 ,S).  C(4,-3)

3.09H15:""~1J1~W~191~~~~~1~~~~~~~"1~~~~~~~~

3.1 5x  - 12y  + 2 = 0 9.2 4x + 3y  - 7 = 0. ,

5x  - 15 - 7 = 0 8x+Sy-S=O

3.3x-2y+ll=O

MA 109 65



qd 2.10.1

pJ’2.10.2

p=ON

6 6 MA 109



Y

hlGiig¶.l  2.10.1 631%

p = [ONI aaaz

w"i%wsq@~  N = (ION1 cos (180’  - a), [ONI ain  ~180~  - a))

= (p cos a, p sin a)

%unxiipl  2.10.2 b311i

p = - IONI  Iba:

%VJUOS~W N = (IONI  cos (180’  + a), IONI  sh (1800  + a))

= ((- p)(- cos a), (- p)(- sh a))

= (p cos a, p sin a)

MA 109 67



sA = cos a

sB = sin a

bla% SC=-p
Y

swsl:ra:$U  szA2=  cos’a

66%  &A2  + B2)  = cos”a  + sin2a

= 1
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3 4 6
- - x + - - y  --=o

5 5 5

xcosa+ysina-p=O

3
bSl18  cos a = -3

4
sina=-

5
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66lJLiif%l  2.8

1. osaln6~~~9s66a~:b%ulddXl~l366PIPIMO;BJBW  iWoJ6hlhl~&3’~~~

1.1 a = 30’ = 4 l.2a=30°,p=6, p

1.3 a = 135’) = 7 1.4 a = 45’ = Jzp , p

1.5 a = 90’ , = -5  1.6 a = 120°,  = 3p p

1.7 a = 120’) = 7 1.8 a = 0” = 3p , p

1.9 a = 60’ , = -3 1.2a=4S0,p=0p

2. osml~uwaroJ”lrplosb~~~~~~~~~~,~~~~~~~~  a~~~%wlbnrnrua*~~*~66~~~,~~~*~

a 66% p

2.lx+y-3=0  / 2.2 x - 3y  + 6 = 0

2.3 2x + 3y - 10 = 0 2.4 3x - 4y + 7 = a

2.5 4x -I-  3y - 5 = 0 1.65x-b 12y=O

2.7 3y - 2 = 0 2.8x+y-fi=O

2.9 2x - 3 = 0 2.10 5x - 12y = 0

2.112x-y+s=o  2.12 x + &y - 4 =: 0
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